T T T = =
g g - - - - - - - - - - - - N - - - N g é
z 10E = =
2 E =1 =
0 Sihatestl é%é median = 2.584 ug
0.15—— : P — T | E——
< R : DO ="
< 01T e e e s T T median = 0,102 Hz
S N N NN A= —
0= e e N | i—
sams2, 121f04006 at LAB102, ER1, Lower Z Panel:[149.54 -40.54 135.25] .
142.0000 sa/sec (6.00 Hz) Sum
Af=0.002 Hz, Nfft = 65536 sams2, 121f04006 Hanning, k = 727
Temp. Res. = 38.986 sec, No = 60000 Start GMT 30-January—2014, 030/16:00:00.007 Span = 7.86 hours
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GMT 30-Janu ary_zo 14: 030/h h ‘mm from: /misclyoda/pub/pad, pims, 01-Feb-2014,05:50:46.958



